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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
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50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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types. N (10 Marks)
A liquid has a specifi er V{ty of 0.72. Find its densn)}* andfspemﬂc weight. Find also the
weight per llter of hqu1d.\_,n 7 (; (05 Marks)

<\ fference in the liquid levels in the two
(05 Marks)

the specific weight and dens1tym
limbs is 10 mm.

Explain the working principles of ele;"trome\;pressure gauge. List the types of electronic

pressure gauge. Explain any \mﬁﬁ;‘gg‘ 7 (08 Marks)

With a neat sketch, of “U /
equation.

The right and leil Timb of al3
limb contains liquid of sp.,
The positions of the liquid

’r;-explain the principle of writing manometric
2 |. 7 (04 Marks)
Zjia @ter 20 mm and 5 mm respectively. The left
1eﬁ Jimb consists of liquid of sp.gravity 1.35.
hmbs at’é shown in Fig. Q2 (c). What pressure
'in’_order to rise the level in the limb
(08 Marks)

W

sl{rfaw by the stat1c fluid and locate the position of centre of pressure. Also preWe dngi the
tptal spressure exerted by a statlc liquid on an inclined plane submerged surface is «fhe e

surface is unaltered. ao Marks)

A square pipe whose two edges parallel to the ground surface is of edge dimension 1.5 m. It
carries oil of specific gravity 0.9 under pressure (measured at the centre) 250 kN/m”. Find
the force exerted by the oil on the gate valve at the end of the pipe and also find the position
of the centre of pressure. (10 Marks)
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thh new sketches, define and distinguish between streamline, path line and streak lme
3 (¢ »/(66 Marks)
-ordinates.

' (08 Marks)
The vgloéfty components of a two dimensional incompressible flow, are W= x — 4y and

V——§7 4%~ The flow is continuous. Find the velocity potential ﬁlngtlon and stream
: o (06 Marks)
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PART — B

from Euler’s equamq,ﬁ ‘Wlth usual form. (08 Marks)
What is kinetic energy- Qb{rectlon factor, derive the expre@S&on/ for kinetic energy correction
factor. How is it mcorpora’tc\d in Bernoulli’s equation. ¢~ > (06 Marks)
A 400 m long pipe tapal§\(mm 1.20 m diameter at hig “éﬁeband 0.60 m diameter at the low
end, the slope of the plpébemgxl in 100. The pipe cm“i y% a discharge of 1025 cum/s. If the

pressure at high end is 75 Kf{a,, find the pressure atyth;a low end, ignore losses. (06 Marks)

Derive expression for pressure ‘r,tSE g to mstanténbg)us closure of valve for rigid and elastic
plpeS (10 Marks)
A pipe line 2.50 km long 180 mm’ dI gxt@r Cﬁﬁveys a discharge of 0.015 m’/s. From high
level tank to a low level tank. If it is gghn@dw increase the discharge to the low level tank
by 30% by attaching an additional pipe mfparallel to the latter half length of the pipe, find
the diameter of this pipe. Take f= 0. 02957 5 \PS (10 Marks)

How Floats and Currents meter are used” velocity in stream? Explain. (08 Marks)
A Pitot tube records a reading of 0 ‘&5 kPa as th "e;,gnatlon pressure, when it is held at the
i ‘ateJr The statlc pressure in the pipe is

(06 Marks)

Depth above bed (m) 0
Velocity (m/s) ., [©]05]0.7]/0.8]0.8 V),
Find the dlschargc: pelg unit width of stream near the point of mﬂasqrﬁ:ment depth of flow at
the point was 5 USe both single point and double point of asseSMent of discharge.

- \;\v * & (06 Marks)
Prove thatﬁd' 3
a supprgése \\fectangular notch. /(08 Marks)
What are’t he’advantages of triangular notch over rectangular notch? u " (04 Marks)

Flnd the Venturi head for a venturimeter which has its axis vertical. The mle‘t \and throat
dlgme’mrs are 150 mm and 75 mm respectively. The throat is 225 mm above"\the mlet and
petml of sp. gravity 0.78 flows up through the meter at a rate of 0.029 ms/s. Take\l(‘=m()96

<~A1~5Q;ﬁnd the pressure difference between inlet and the throat. (Q&’wa\cks)
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